
PassTest

Q&A
Bessere Qualität , bessere Dienstleistungen!

http://www.passtest.de/


The safer , easier way to help you pass any IT exams. 

1 / 2 

 

 

 

Exam    :   C9510-052 

 
 

 

Title     :     

 

 

 

 

 

 

Version  :   DEMO 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Collaborative Lifecycle 

Management V4 



The safer , easier way to help you pass any IT exams. 

2 / 2 

1.In RQM version 3, what can have execution records? (Choose two.) 

A.Test Plan 

B.Test Case 

C.Test Suite 

D.Test Script 

Answer: B,C  

 

2.Which database servers are supported by the Jazz Team Server? 

A.IBM DB2, Derby, MySQL, Microsoft SQL Server 

B.Microsoft SQL Server, Microsoft Access, Derby, IBM DB2 

C.Derby, IBM DB2, Microsoft SQL Server, Oracle Database 

D.IBM DB2, Software AG Adabas, Microsoft SQL Server, Oracle Database 

Answer: C  

 

3.Which sequence represents the flow of steps that developers use to collaborate with regard to Jazz 

source control? 

A.checkout, checkin, baseline 

B.checkin, deliver, accept 

C.accept, checkout, deliver 

D.rebase, checkout, checkin, deliver 

Answer: B  

 

4.What are two capabilities provided by the Lifecycle Project Administration (LPA) application? 

A.Create a lifecycle project from a predefined template 

B.Configure email setting for notification when a work item is updated 

C.Import process template that can be used for lifecycle projects 

D.Define members to all of the project areas that belong to a lifecycle project 

E.Register applications to add to the Jazz Team Server environment 

Answer: A  

 

5.Which three Reporting solutions are supported by CLM 2012? (Choose three.) 

A.BIRT 

B.RRDI 

C.Open Reports 

D.Crystal Reports 

E.RRDG 

Answer: A,B,E  

 


